N1
el Bt

Wishbone

Axial Joint

Tie Rod End

Track Control Arm
Ball Joint
Stabiliser Link
Bush (Bushing)

=)
SUREAL VERITAE
Cantlicriom

www.teknorot.com
info@teknorot.com

SUSPENSION PARTS,

TEIoroT

JULY 2015 New Items

i 6 %
-




P JULY 2015 NEW ITEMS ((l ,
) \TEXIagrgT
Adapted for Years
1 BMW X3 (F25) 2010-
Tek ref Description OEM NO Notes
B-876 WISHBONE ARM REAR UPPER 33326786981
2 BMW X3 (F25) 2010-
Tek ref Description OEM NO Notes
B-877 WISHBONE ARM REAR LOWER 33326786978
3 BMW X3 (F25) 2010-
Tek ref Description OEM NO Notes
B-878 WISHBONE ARM REAR CENTER RH 33326788550
& BMW X3 (F25) 2010-
Tek ref Description OEM NO Notes
B-879 WISHBONE ARM REAR CENTER LH 33326788549
5 FIAT 500 L 2012-
Yo,
Tek ref Description OEM NO Notes
F-381 TIE ROD END RH 77366166 M10X1,5

Page 2



P JULY 2015 NEW ITEMS (P .
) \TEXIagrgT
Adapted for Years

6 FIAT 500 L 2012-
Tek ref Description OEM NO Notes
F-382 TIE ROD END LH 77366165 M10X1,5

7 FIAT 500 L 2012-

. Jam

Tek ref Description OEM NO Notes
F-388 WISHBONE (WITH BALL JOINT) RH 51885660

8 FIAT 500 L 2012-
Tek ref Description OEM NO Notes
F-389 WISHBONE (WITH BALL JOINT) LH 51885737

9 HONDA CIVIC IX 2012-

N

Tek ref Description OEM NO Notes
H-111 TIE ROD END RH 53540-TR0-A02 M14X1,5

10 HONDA CIVIC IX 2012-

R

Tek ref Description OEM NO Notes
H-112 TIE ROD END LH 53560-TR0-A02 M14X1,5

Page 3



(P

JULY 2015 NEW ITEMS

(F?E(HDI?D T

Adapted for Years
1 HONDA ODYSSEY (U.S.A) 2005 - 2010
Tek ref Description OEM NO Notes
H-600 LINK STABILIZER FRONT 51320-SHJ-A02 L=325
12 HONDA ODYSSEY (U.S.A) 2011-
Tek ref Description OEM NO Notes
H-600 LINK STABILIZER FRONT 51320-SHJ-A02 L=325
13 JAGUAR X-TYPE 2001-2009
Tek ref Description OEM NO Notes
JA-920 AXIAL JOINT 1X433200AF M16x1.5 - L=342mm
1X433200BF
2X433200AE
2X433200BE
1 RANGE ROVER SPORT Il 2013-
Tek ref Description OEM NO Notes
LA-170 LINK STABILIZER FRONT LR035489
15 RANGE ROVER IV (Vogue) 2012-
Tek ref Description OEM NO Notes
LA-173 AXIAL JOINT LR033529




(P

JULY 2015 NEW ITEMS

Ce's(naﬂa T

Adapted for Years
16 RANGE ROVER SPORT II 2013-
Tek ref Description OEM NO Notes
LA-173 AXIAL JOINT LR033529
17 RANGE ROVER SPORT II 2013-
Tek ref Description OEM NO Notes
LA-176 LINK STABILIZER REAR RH LR042976
18 RANGE ROVER SPORT II 2013-
Tek ref Description OEM NO Notes
LA-177 LINK STABILIZER REAR LH LR042975
19 LEXUS RX 2003 - 2008
Tek ref Description OEM NO Notes
LX-203 AXIAL JOINT 45503-09270
20 MAZDA CX-7 2007-
L/
L
Tek ref Description OEM NO Notes
MA-516 LINK STABILIZER FRONT RH F151-34-150

F189-34-150




P JULY 2015 NEW ITEMS ((l ;
) TEXrngragrT
Adapted for Years
2 MAZDA CX-7 2007-
—
Tek ref Description OEM NO Notes
MA-517 LINK STABILIZER FRONT LH F151-34-170
F189-34-170
22 MERCEDES A-CLASS (W176) 2012-
Tek ref Description OEM NO Notes
M-576 TRACK CONTROL ARM REAR LOWER 2463500053
A2463500053
23 MERCEDES B-CLASS (W242,W246) 2012-
Tek ref Description OEM NO Notes
M-576 TRACK CONTROL ARM REAR LOWER 2463500053
A2463500053
2 MERCEDES CLA (C117) 2012-
Tek ref Description OEM NO Notes
M-576 TRACK CONTROL ARM REAR LOWER 2463500053
A2463500053
2 MERCEDES C-CLASS (W205) 2013-
Tek ref Description OEM NO Notes
M-796 LINK STABILIZER REAR RH 2053260417

A2053260417




JULY 2015 NEW ITEMS

i;F\?an:mu:r T

Adapted for Years
2 MERCEDES C-CLASS 4-MATIC (W205) 2013-
Tek ref Description OEM NO Notes
M-796 LINK STABILIZER REAR RH 2053260417
A2053260417
a1 MERCEDES C-CLASS (W205) 2013-
Tek ref Description OEM NO Notes
M-797 LINK STABILIZER REAR LH 2053260317
A2053260317
28 MERCEDES C-CLASS 4-MATIC (W205) 2013-
Tek ref Description OEM NO Notes
M-797 LINK STABILIZER REAR LH 2053260317
A2053260317
29 MERCEDES M,GL CLASS (W164) 2005 - 2011
E G — =
—
Tek ref Description OEM NO Notes
M-833 TRACK CONTROL ARM REAR
30 PEUGEOT 407 2004 - 2011
O )
Tek ref Description OEM NO Notes

P-478

TRACK TORSIYON ARM REAR LONG




P JULY 2015 NEW ITEMS (P ;
\TEXargT
Adapted for Years
31 CITROEN C5 2008 - 2015
Tek ref Description OEM NO Notes
P-478 TRACK TORSIYON ARM REAR LONG
2 AUDI Al 2011-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
33 AUDI A3 2003-2012
: 2 =
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
34 2011-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
35 AUDITT 2007-2012
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA

1K0505311AB

Page 8



P JULY 2015 NEW ITEMS (P ,
) \TEXIaraT
Adapted for Years
3 SEAT ALTEA 2004-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1KO0505311AA
1K0505311AB
37 SEAT LEON (1P) 2006 - 2012
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
38 SEAT TOLEDO Il (5P) 2004 - 2009
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
3 SKODA OCTAVIA (1Z) 2004 - 2012
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
i SKODA SUPERB ( 3T) 2008-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA

1K0505311AB

Page 9



(P JULY 2015 NEW ITEMS (_pTEmmmT@
Adapted for Years
4 SKODA YETI 2008-

:

Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
2 VOLKSWAGEN BEETLE 2011 -

:

Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
43 2009-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1KO0505311AA
1K0505311AB
4 VOLKSWAGEN EOS 2006 - 2014
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
45 VOLKSWAGEN GOLF (V, VI, VIl) 2003 -

Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1KO0505311AA

1K0505311AB




(P

JULY 2015 NEW ITEMS

Adapted for

46

VOLKSWAGEN JETTA (111, 1V)

Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1KO0505311AA
1K0505311AB
47 VOLKSWAGEN PASSAT (362, 365) 2006-2014
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
48 VOLKSWAGEN SCIROCCO (137, 138) 2009 -
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
49 VOLKSWAGEN TIGUAN 2008-
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA
1K0505311AB
50 2003 - 2015
Tek ref Description OEM NO Notes
V-228 WISHBONE ARM REAR BIG 1K0505311AA

1K0505311AB




